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Insect Body Parts

Insects don’t have backbones as we do. They have a hard outer covering (called an
exoskeleton) on the outside of their bodies.

Most insects have
three pairs of legs for
walking, swimming, and
grabbing prey.

Many adult insects have two
pairs of wings.

and other major organs.

All bugs are insects, but

Most insects have one
not all insects are bugs.

pair of antennae. Insects
“‘wave” their antennae
to sense what is around
them by smell.

Adult insects have
three body parts: head,
thorax, and abdomen.

The head holds the
eyes, antennae, and
mouthparts.

The thorax is right
behind the head.
Wings and legs attach
to the thorax.

The abdomen is the
back part of the insect
and contains the heart




ant Monarch butterfly dragonfly

firefly long-horned grasshopper ladybug walking stick

These night fliers produce light to find mates. If too many outside lights are on, they
have trouble finding each other.

To attract the ladies, these males create a mating call (some call a song). This species
(and crickets) rub their two wings together to make their beautiful sound, while other
species rub a wing against a leg.

These beetles eat up to 75 tasty aphids a day. Different kinds have different numbers
of black spots on their wings.

These insects have four oval-shaped wings. They can fly up to 35 mph (56 kilometers
per hour)! They can also hover in one place like a helicopter, or fly backwards.

Imagine having five eyes like this insect! They have two large compound eyes made of
many lenses and three simple eyes. The simple eyes are on the forehead in a triangle.

These insects do special dances to let each other know where to find food. If flowers
are near, they move in a circle. If flowers are far, they do a figure eight.

Their thin body parts look exactly like small twigs. When hungry enemies are near,
these insects stay perfectly still.

To avoid the cold winters, these insects migrate. Some travel 3000 miles (4828 km) to
find a warm place to stay during the cold winter.
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Insect Life Cycles
Eggs hatch into larvae that don’t look
anything like the adults. egg

The larvae eat, grow, and molt. When they are
grown, they turn into pupae.

-

The pupa stage is a time of change. \
Adult insects emerge from pupae. Then they

lay eggs to start the process all over again. Complete
Names of insects and their larvae: Metamorphosis
beetles, bees, wasps—grubs
butterflies, moths—caterpillars
mosquitoes—wrigglers or larvae
ants—Ilarvae £
flies—maggots {
Amphibians (frogs, toads, and < pupa
salamanders) also go through a ) (chrysalis or
complete metamorphosis. Larvae cocoon) .
are called tadpoles or pollywogs. o, o F /

Incomplete
or Gradual - _

Eggs hatch into nymphs that look
like tiny adults without wings.

As the nymphs grow, they molt or

e S . : ’ . . .
99 Metamorphosis /S . shed their hard, outer covering and
' row a new, bigger one.
> ~— Insects include: J 99 .
ﬂ ) Insects usually molt several times
a_phélds before they reach adult size.
cicadas
bugs Scientists that study insects
grasshoppers called Entomologists point out
crickets that “gradual metamorphosis”
praying mantises may describe this process better
cockroaches than the commonly used term
dragonflies incomplete metamorphosis.

These insects go through a gradual
change. By the time they’ve
reached adult size, they have
grown their wings.



Compare and Contrast
firefly

luna moth bee

I

f

pirate bug
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Compare and contrast the insects by |
answering the questions using information

found in the book. Answers are upside down
at the bottom of the page.

walking stick ;‘? e s . »w spittlebug

grasshopper butterfly

A ladybug is a type of beetle. What is the ladybug called when it hatches from its egg?
Does it undergo complete or incomplete metamorphosis?

What is a cockroach called when it hatches from its egg? Does it undergo complete or
incomplete metamorphosis?

What are some animals, other than insects, that undergo complete metamorphosis? To
what animal group do they belong?

Ants undergo a complete metamorphosis. At what stage of life are the ants shown in
this book?

Loud music or noise make it difficult for some insects to find mates. Bright outside
lights make it difficult for which insect to find a mate?

Insect legs and wings (if they have wings) attach to what part of their body?

How do insects use their antennae? What part of our body do we use for that?

Insects are classified as “invertebrates” because they do not have backbones. What
kind of skeleton do they have?
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Multiplying Numbers

3 pirate bugs x 8 mites each = how many mites?

You could count
each mite to get
the answer.

Or, you could add /#

Or, you could
each group: multiply:
8+8+8=24 8x3=24

e

\( 5 grasshoppers x 2 wings each = how many wings?2 +2 +2+2+2=?0r5x2=7

9 fireflies x 1 light each = how many lights? 9 x 1 =?

% 4 luna moths x 3 inches long = how many inches? 3 +3 +3 +3=?0r4x3 =7
*8dragonf|iesx4wingseach=howmanywings?4+4+4+4+4+4+4+4=?or8x4=?

f# 4 honey bees x 6 legs each =how manylegs?6 +6 +6+6=?0r4x6=7

6 ants x 5 eyes each = how many eyes? 5+5+5+5+5+5=20r6x5=7?

‘fSIadybugsx7spotseach=howmanyspots?7+7+7+7+7+7+7+7=?or8x7=?
\\ 7 walking sticks x 9 parts = how many parts?9+9+9+9+9+9+9=20r7x9=7?

“6swarms of 10 butterflies = how many butterflies? 10+ 10+ 10+ 10+ 10+ 10=20or6x 10="?

f‘ 2 spittlebugs x 11 bubbles = how many bubbles? 11 + 11 =?0r2 x 11 =7



It’s best to memorize the basic multiplication facts. Until then, you can use a multiplication
table to help find the answer. The top row and left-side column of numbers (in yellow)
represent the numbers to be multiplied. To find the answer, run your finger over and down
to where the row and column meet.

Do you think it matters which number is in the top row or first column?

Can you find any patterns in the numbers?

x |1 |2|3]|4|5|6|7|8|9]|10]11
1|1 [2(3|4|5|6|7]|8[¥[10]11
2 | 2| 4|6 |8 |N|12|14]|16]18]| 20 |
3 3|6 |9 | A[15[18|21|# |27] 30 | 33
4 | 4|8 |A|16|20]g |28 [36] 40 | 44
5| 5 [%|15[20|25|®%[35|40|45| 50 | 55
6|6 |12]18]|™|36|42]48]54[~\8] 66
7| 7142128354240 |@F| | 70| 77
8 | 8 |16 |# | Y\|40|48|&F|64|72| 80 | 88
9 s |18|27(36|45|54| % [72]81| 90 | 99
10| 10|20 |30 |40 |50 |Ng|70|80(90| 100110
11| 11| 4 [33[44(55|66|77|88(99|110 121

More multiplication activities are in the free online activities available on the book’s
homepage at www.ArbordalePublishing.com.
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